LEADZM

Rotating Remote Controlled TV Antenna

Product Manual

Package Contents

NO. NAME Qty. Image
1 Main Unit 1 O
2 Main Pole Column 1 .
3 Motor-Fixed Bolster 1 ' )
4 | U-Frequency Post 1 = ' -
5 U-Frequency Vibrator 9 QD
6 | Screw(3x10mm) ) <l )
7 | Screw(4x12mm) 9 Y
8 Power Supply 1 .
9 Remote Controller 1 ,

10 | 75 ff Coaxial Cable 1|
11 Power Adapter 1 H

12 | Coaxial Cable Gasket 1 -

13 | Instruction 1

| om0

System Layout

Power Supply
AC110V 10%/60Hz

TVA1

ANT
TV 2(RF IN)

\ I / }3 Power input

Main Switch

Infrared Receiver

LED Indicators

Power on.

Red Light

Green Light | Antenna is rotating.

Something is wrong with
Yellow light | power supply(check cable
connection).

Digital Converter
Box

Power Supply

Antenna

P4: Connect Signal Line

Connect the coaxial signal line and tighten the fastener.

P5: Secure Antenna

* Give 50cm radial clearance to allow rotation.

Place Antenna onto pole and tighten Main Pole Column.

P1: Install U-Frequency Vibrators

holes x5 ?

L black front end bumper

A: Locate the U-Frequency Post B:Locate a U-Frequency Vibrator and slide it C:Repeat step B with the other four U-Frequency
onto the U-Frequency Post with the vibrator vibrators.

screw hole on the same side as the screw holes.

Align the U-Frequency vibrator with the
front-most hole of the U-Requency post and
insert a 3x10mm screw secure.

D:Rotate the VHF receiving vibrator on the main body into the card slots on both sides.

E:Insert the new assembly into the Main Unit as shown. F:Secure with the 4x12mm screw as shown.

P2: Open Reflection Panel

Open the Reflection Panel as shown.

P3: Install Motor Rotor

-4

4

B:Insert the four 4x12mm screws
to secure.

A:Place Main Pole Column onto
Motor-Fixed Bolster.

C:Place the Motor-Fixed Bolster onto the Main Unit  D:Insert the four 4x12mm screws to secure.
as shown.




	页 1

